For each shape find the area and the perimeter.

a). 1.2m b). C).

40 cm

0.9m 40 em

m
12 cm

1Ecm



How many small circles could we
fit into the large circle?




This is a
Reuleaux
triangle

Diameter = 27.5mm



For each shape find the area and the perimeter - answers

a). 1.2m b). C).

40 cm

e).
7m
12 cm
-
im 1Ecm
a). A=1.40 m’ P=471m b), A=21717cm* P=2428cm
c). A=4931cm* P=1742cm d)., A=875m’ P=36.00m
e). A=144cm’ P=61.70cm f). A=2356cm? P=942cm




How many small circles could we
fit into the large circle?




32m — 323

323 — 167

7 N\

Thisis a
\ l Reuleaux

triangle

16V3 + 241
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